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QUESTION 1

Which three statements about logical, resolved, and concrete model in Cisco ACI are true? (Choose three.) 

A. Objects in the resolved model are read-only objects that are used to pass the configuration object from the Cisco
APIC to the needed switches. 

B. Objects in the concrete model are concrete real objects that are configured by a user. 

C. Objects in the logical model are read/write objects that are configured by a user. 

D. iNXOS consumes objects from the concrete model to program switch hardware with the needed networking
construct, such as vlan or vrf. 

E. iNXOS consumes objects from the resolved model to program switch hardware with the needed networking
construct, such as vlan or vrf. 

F. NXOS consumes objects from the logical model to program switch hardware with the needed networking construct,
such as vlan or vrf. 

Correct Answer: BCD 

 

QUESTION 2

Which three AVS switching modes are supported on Cisco ACI? (Choose three) 

A. VXLAN, no local switching 

B. VPC-HM 

C. VXLAN, local switch 

D. VLAN, no local switching 

E. MAC pinning 

F. VLAN, local switching 

Correct Answer: ADF 

 

QUESTION 3

Wh.ch two statements about the Cisco ACl distributed gateway are true? (Choose two.) 

A. Endpoints attached to a leaf always find their gateway locally on the attached leaf. 

B. The routing function of the SVl is performed on the leaf in the Northstar ASIC. 

C. Endpoint mobility is restricted to a specific port on a specific leaf. 

D. The routing function of the SVl is performed on the leaf in the Trident 2 Broadcom ASIC. 
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E. Gateway is represented as a SVl. 

Correct Answer: BD 

 

QUESTION 4

Where does the VIP for the vPC come from? 

A. assigned by Cisco ARC from the management tenant IP space. 

B. allocated from the vPC domain number assigned to the vPC peers. 

C. DHCP from the infra TEP pool leaf portion. 

D. DHCP from the infra TEP pool VIP portion. 

Correct Answer: D 

 

QUESTION 5

Which Cisco ACl policy binds the VMM domain with specific leaf interfaces? 

A. interface profile 

B. switch pokey 

C. vSwitch policy 

D. attachable access entity pokey 

Correct Answer: C 
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